## MANATEE COUNTY GOVERNMENT INTENT TO AWARD

		6 1 1
Manhole Covers and Related Products	DATE POSTED	MC 9-16/16 XSE DS N/A CC N/A
Bonnie Sietman, Sr. Buyer x3046	DATE CONTRACT SHALL BE AWARDED	Contingent upon the acceptance of Purchasing Official (7 days), 4/14/2016
Public Works	CONSEQUENCES IF DEFERRED	N/A
RFQ #16-1422BLS	AUTHORIZED BY DATE	4/6/2016 - BLS
	Related Products  Bonnie Sietman, Sr. Buyer x3046  Public Works	Related Products  Bonnie Sietman, Sr. Buyer x3046  Public Works  DATE CONTRACT SHALL BE AWARDED  CONSEQUENCES IF DEFERRED  AUTHORIZED BY

## NOTICE OF INTENT TO AWARD

Notice of Intent to Award, Request for Quotation #16-1422BLS, Manhole Covers and Related Products to multiple lowest, responsive, responsible quoters, by group, meeting specifications to HD Supply located in Sarasota, FL; Bert Lowe Supply located in Lakeland, FL; and Atlantic TNG LLC located in Sarasota, FL.

## **ENABLING/REGULATING AUTHORITY**

Federal/State law(s), administrative ruling(s), Manatee County Comp Plan/Land Development Code, ordinances, resolutions, policy.

Manatee County Code of Laws

## BACKGROUND/DISCUSSION

- This procurement is for manhole covers and related products for the Public Works Department.
- > The intent of this Request for Quotation (RFQ) is to establish multiple awards, by group, to the lowest, responsive, responsible quoter's meeting specifications.
- The annual estimated expenditure is \$90,000.00
- > The County solicited RFQ #16-1422BLS from March 9, 2016 through March 30, 2016, appropriate quotation procedures were followed.
- ➤ Notice of RFQ #16-1422BLS was directly solicited to six vendors, solicited on MyManatee.org, and the Manatee County Chamber.
- Five quotations were received and one no offer was received (see attachment).
- ➤ April 5, 2016, received an email from Judy Berisford, Fuel/Inventory Operations Division Manager, recommending award for groups A, B and D to HD Supply; group C to Bert Lowe Supply; and Group E to Atlantic TNG. No offers were received for Group F.

ATTACHMENTS (List in order of attached)	tabulation	FUNDING SOURCE (Acct Number & Name)	× Funds Verified  Insufficient Funds
COST	Annual Estimate \$90,000.00	AMT/FREQ OF RECURRING COSTS (Attach Fiscal Impact Statement)	5010003698-595000

	TILEY	RFO #16-1422BLS  Manhole Covers and Related P  ARD STORM WATER DRAIN	PLIES	Atlantic TNG, LLC Sarasota, FL		Bert Lowe Supply Lakeland, FL		<u>Ferguson Waterworks</u> <u>Sarasota, FL</u>		Fortline, Inc. Tampa, FL		HD Supply Waterworks Ltd Sarasota, FL			
ITEM	COUNTY PRODUCT NUMBER	PRODUCT DESCRIPTION	OT Y	<u>U/M</u>	MFG/PART#	UNIT PRICE	EXTENDED PRICE	UNIT	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE
		GROUP A													
	STOR	RM WATER DRAINAGE												No. of London	
	COVE	RS, RINGS, AND GRATES			U.S. FOUNDRY										
A,1	80HC00001	COVER, C.I. Stamped MANATEE COUNTY STORM 22-1/4"	5	EA	SP-USFMSTORM	\$79.00	\$395.00	No Quote	No Quote	\$64.70	\$323.50	\$167.60	\$838.00	\$162.19	\$810.95
A.2		COVER, C.I. Stamped MANATEE COUNTY STORM 23-3/4"	10	EA	SP-ESTORMCVR	\$0.00	\$0.00	No Quote	No Quote	\$77.35	\$773.50	\$170.00	\$1,700.00	\$164.52	\$1,645.20
A.3	80HF00001	MANHOLE RING 4" C.I.	150	EA	SP-USF1110M	\$85.00	\$12,750.00	No Quote	No Quote	\$69.25	\$10,387.50	\$71.55	\$10,732 50	\$69.27	\$10,390.50
A.4	80HF00002	MANHOLE RING 6" C.I.	30	EA	SP-USF1111M	\$202.00	\$6,060.00	No Quote	No Quote	\$164.64	\$4,939.20	\$81.30	\$2,439.00	\$78.70	\$2,361.00
A.5		COVER, CI, MANATEE COUNTY STORM 22-1/4" Stamped - "DUMP NO WASTE - PROTECT YOUR WATER" with a Manatee pictured on cover	200	EA	SP- USFNGDNWPYW	\$114.00	\$22,800.00	No Quote	No Quote	\$92.94	\$18,588.00	\$96.00	\$19,200.00	\$92.94	\$18,588,00
		GRATES ASTM-A48, GRAY IRON CI	LASS	35B											
A.6	80HT02640	GRATE TRAFFIC 26" X 40" X 2"	5	EA	#6301	\$164.00	\$820.00	No Quote	No Quote	\$133.25	\$666.25	\$137.70	\$688.50	\$133.25	\$666.25
A.7	80HT02828	GRATE TRAFFIC 28" X 28" X 2"	100	EA	#6345	\$132.00	\$13,200.00	No Quote	No Quote	\$110.44	\$11,044.00	\$114.10	\$11,410.00	\$110.44	\$11,044.00
A.8	80HT02836	GRATE TRAFFIC 28" X 36" X 2"	5	EA	#6209	\$184.00	\$920.00	No Quote	No Quete	\$150.25	\$751.25	\$155.25	\$776.25	\$150.25	\$251.05
		TOTAL - GROUP A (A1-A8			\$56,945.00		No Quote		\$47,473.20		\$47,784.25		\$46,257.15		

	RFO #16-1422BLS  Manhole Covers and Related Products  TILE YARD STORM WATER DRAINAGE SUPPLIES						Atlantic TNG, LLC Sarasota, FL		Bert Lowe Supply Lakeland, FL		<u>Ferguson Waterworks</u> <u>Sarasota, FL</u>		Fortline, Inc. Tampa, FL		Waterworks  td  ota, FL
ITEM	COUNTY PRODUCT NUMBER	PRODUCT DESCRIPTION	OT Y	<u>U/M</u>	MFG/PART#	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE
		GROUP B													
	SCR	EW ANCHORS, EYEBOLTS, AND F	TBE	R CLO											
B.1	80SA00344	SCREW ANCHOR INSERTS 3/4" X 4"	500	EA	DAYTON #48440 F1-3/4" X 4"	No Quote	No Quote	No Quote	No Quote	\$4.05	\$2,025.00	No Quote	No Quote	\$3.63	\$1,815.00
B.2	80\$A00116	SCREW ANCHOR INSERTS 1" X 6"	50	EA	DAYTON #48460 F1-1"	No Quote	No Quote	No Quote	No Quote	\$6.64	\$332.00	No Quote	No Quote	\$5.96	\$298.00
В.3	80SY00110	SCREW ANCHOR LIFTING EYE 1" X 10"	10	EA	DAYTON #F3 1"X10"	No Quote	No Quote	No Quote	No Quote	\$59 85	\$598.50	No Quote	No Quote	\$59.01	\$590.10
B.4	80SY00347	SCREW ANCHOR LIFTING EYE 3/4" X 7"	25	EA	DAYTON #F3 0-3/4" X 7"	No Quote	No Quote	No Quote	No Quote	\$52.40	\$1,310.00	No Quote	No Quote	\$51 64	\$1,291.00
B.5	80TF00003	FIBER FILTER CLOTH 3' X 360'	35	EA	MIRAFI 140NL N/WOV 120 SY	No Quote	No Quote	No Quote	No Quote	\$64.80	\$2,268.00	No Quote	No Quote	\$66.35	\$2,322.25
B.6	80TF00015	FIBER FILTER CLOTH 15' X 360'	5	EA	MIRAFI 135NL N/WOV 600 SY	No Quote	No Quote	No Quote	No Quote	\$282.00	\$1,410.00	No Quote	No Quote	\$296,47	\$1,482.35
- SAMUAL		TOTAL - GROUP B (B1-B6)	)				No Quote		No Quote		\$7,943.50		No Quote		\$7,798.70
		GROUP C													
		REBAR AND WIRE MESH	[												
C.1	80RB00002	REBAR #2 x 20' GR 60 1/4"	5	EA		No Quote	No Quote	2.71	\$13.55	\$3.70	\$18.50	No Quote	No Quote	No Quote	No Quote
C.2	80RB00003	REBAR #3 x 20' GR 60 3/8"	5	EA		No Quote	No Quote	2.97	\$14.85	\$4.10	\$20.50	No Quote	No Quote	No Quote	No Quote
C.3	80RB00004	REBAR #4 x 20' GR 60 1/2"	450	EA		No Quote	No Quote	5.03	\$2,263 50	\$6 42	\$2,889.00	No Quote	No Quote	No Quote	No Quote
C.4	80RB00005	REBAR #5 x 20' GR 60 5/8"	50	EA		No Quote	No Quote	8.08	\$404.00	\$9.85	\$492.50	No Quote	No Quote	No Quote	No Quote
C.5	80RB00006	REBAR #6 x 20' GR 60 3/4"	20	EA		No Quote	No Quote	11.54	\$230.80	\$13.55	\$271 00	No Quote	No Quote	No Quote	No Quote
C.6	80RB00007	REBAR #7 x 20' GR 60 7/8"	5	EA	6" X 6" 10/10	No Quote	No Quote	16.25	\$81.25	\$18.40	\$92.00	No Quote	No Quote	No Quote	No Quote
C.7	80RM06150	WIRE MESH 6' X 150' ROLL	5	ROLL	GAGE STEEL	No Quote	No Quote	97.5	\$487.50	\$121.00	\$605.00	No Quote	No Quote	No Quote	No Quote
	TOTAL - GROUP C (C1-C7)						No Quote		\$3,495.45		\$4,388.50	D. L. C.	No Quote		No Quote

	TILE Y	RFO #16-1422BLS  Manhole Covers and Related I  ARD STORM WATER DRAIN	PLIES	Atlantic TNG, LLC  Sarasota, FL		Bert Lowe Supply  Lakeland, FL		Ferguson Waterworks Sarasota, FL		Fortline, Inc. Tampa, FL		HD Supply Waterworks Ltd Sarasota, FL			
ITEM	COUNTY PRODUCT NUMBER	PRODUCT DESCRIPTION	OT Y	<u>U/M</u>	MFG/PART#	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE
		GROUP D	(n e) 6.00												
22	HYI	DRAULIC CEMENT AND RAMNE	CK SI	EALA	NT						1545				
D.1	80CH00006	HYDRAULIC CEMENT 50# PAIL	70	PAIL	BONSAL #710150	No Quote	No Quote	No Quote	No Quote	\$29.20	\$2,044.00	\$50.00	\$3,500.00	\$22.50	\$1,575.00
D.2	80CH00005	HYDRAULIC CEMENT 50# PAIL	60	PAIL	QUICKRETE #1126	No Quote	No Quote	No Quote	No Quote	\$27.38	\$1,642.80	\$53.00	\$3,180.00	\$26.14	\$1,568.40
D.3	80TR00112	RAM NECK SEALANT 1-1/2" WIDE (20PC/BX)	5	вох	76RAMNECKB	\$65.00	\$325.00	No Quote	No Quote	551.00	\$255.00	\$53.50	\$267.50	\$45.35	\$226.75
	TOTAL - GROUP D (D1-D3)						No Quote		No Quote		\$3,941.80		\$6,947.50		\$3,370.15
	GROUP E														
(		CATCH BASINS (CBC'S) "Note: Ru applied by Manatee County CBC with													
E.1	90AG48484	48" X 48" X 4"	10	EA		\$200.00	\$2,000.00	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote
E.2	90A48R484	48" X 48" X 4" WITH 4" RUB RAIL	5	EA		\$250.00	\$1,250.00	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote
E.3	90AG48486	48" X 48" X 6"	5	EA		\$200.00	\$1,000.00	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote
E.4		48" X 48" X 6" WITH 6" RUB RAIL	5	EA		\$260.00	\$1,300.00	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote
E.5		48" X 64" X 4"	5	EA		\$200.00	\$1,000.00	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote
E.6	90A48R644		5	EA		\$250.00	\$1,250.00	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote
E.7	90A4864R4		25	EA		\$266.00	\$6,650.00	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote
E.8		48" X 64" X 6"	. 5	EA		\$200.00	\$1,000.00	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote
E.9		SIDE	5	EA		\$260.00	\$1,300.00	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote
E.10	90RA48646		5	EA	- 20 60 60 6000	\$280.00	\$1,400.00	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote
E.11		64" X 64" X 4"	5	EA		\$200.00	\$1,000.00	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote
E.12		64" X 64" X 4" WITH 4" RUB RAIL 64" X 64" X 6"	5	EA		\$266.00 \$200.00	\$1,330.00 \$1,000.00	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote
E.13 E.14		64" X 64" X 6" WITH 6" RUB RAIL	5	EA		\$200.00	\$1,000.00	No Quote  No Quote	No Quote  No Quote	No Quote  No Quote	No Quote  No Quote	No Quote  No Quote	No Quote  No Quote	No Quote  No Quote	No Quote  No Quote

	RFQ #16-1422BLS													HD Supply	Waterworks
1		<b>Manhole Covers and Related P</b>	rodu	icts		Atlantic	TNG, LLC	Bert Lo	we Supply	Ferguson '	Waterworks	Fortl	ine, Inc.		td
	TILE Y	ARD STORM WATER DRAIN	AGE	SUP	PLIES	Sarasota, FL		Lakeland, FL		Sarasota, FL		Tampa, FL		Sarasota, FL	
METH	COUNTY PRODUCT NUMBER	PRODUCT DESCRIPTION	ОТ <u>У</u>	<u>U/M</u>	MFG/PART#	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE
CC	CONCRETE CATCH BASINS (CBC'S) "Note: Rub Rail on One Side Only" Hardware supplied by Manatee County CBC with MANHOLE									14.7			1		
E.15	90AM48484	48" X 48" X 4"	25	EA		\$200.00	\$5,000.00	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote
E.16	90AR48484	48" X 48" X 4" WITH 4" RUB RAIL	25	EA		\$250.00	\$6,250.00	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote
E.17	90AM48486	48" X 48" X 6"	5	EA		\$200.00	\$1,000.00	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote
E.18	90AR48486	48" X 48" X 6" WITH 6" RUB RAIL	5	EA		\$260.00	\$1,300.00	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote
E.19	90AM48644	48" X 64" X 4	25	EA		\$200.00	\$5,000.00	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote
E.20	90AR48644	SIDE	5	EA		\$250.00	\$1,250.00	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote
E.21	90RA48644	SIDE	25	EA		\$266.00	\$6,650.00	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote
E.22	90AM48646	48" X 64" X 6	5	EA		\$200.00	\$1,000.00	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote
E.23		SIDE	5	EA		\$260.00	\$1,300.00	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote
E.24	90RA48646	SIDE	3	EA		\$280.00	\$840.00	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote
E.25	90AM64644	64" X 64" X 4"	15	EA		\$200.00	\$3,000.00	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote
E.26	90AR64644	64" X 64" X 4" WITH 4" RUB RAIL	5	EA		\$266.00	\$1,330.00	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote
E.27		64" X 64" X 6"	5	EA		\$200.00	\$1,000.00	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote
E.28		64" X 64" X 6" WITH 6" RUB RAIL	5	EA		\$280.00	\$1,400.00	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote
	Hardwa	CATCH BASINS (CBC'S) "Note: Rul are supplied by Manatee County CBC w								1					
E.29	90AP48484	48" X 48" X 4"	10	EA		\$200.00	\$2,000.00	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote
E.30	90AP48486	48" X 48" X 6"	5	EA		\$200.00	\$1,000.00	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote
E.31	90AP48644	48" X 64" X 4"	10	EA		\$200.00	\$2,000.00	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote
E.32	90AP48646	48" X 64" X 6"	5	EA		\$200.00	\$1,000.00	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote
E.33	90AP64644	64" X 64" X 4"	5	EA		\$200.00	\$1,000.00	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote
E.34	90AP64646	64" X 64" X 6	5	EA		\$200.00	\$1,000.00	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Ouote	No Quote
		TOTAL - GROUP E (E1-E34	1)			16	\$67,200.00		No Quote		No Quote		No Quote		No Quote

	RFQ #16-1422BLS  Manhole Covers and Related Products  TILE YARD STORM WATER DRAINAGE SUPPLIES						TNG, LLC		we Supply	1	Waterworks sota, FL		ine, Inc.	HD Supply Waterworks Ltd Sarasota, FL	
MELL	COUNTY PRODUCT NUMBER	PRODUCT DESCRIPTION	OT Y	U/M	MFG/PART#	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE	UNIT PRICE	EXTENDED PRICE
		GROUP F													
СВС	*********CUSTOM ORDER******** CBC VARIOUS SIZES - PLAIN - or - MANHOLE - or - 28" SQUARE HOLE														
F.1	ANY IS IS IS	PRICE PER TON or SQ. FOOT 4" THICK	6	TN/FT		No Quote	No Bid	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote
F.2		PRICE PER TON or SQ. FOOT 6" THICK	6	TN/FT		No Quote	No Bid	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote
F.3		PRICE PER TON or SQ. FOOT 8" THICK	1	TN/FT		No Quote	No Bid	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote
F.4	224 1124	RUB RAIL PER FOOT FOR ABOVE 4"	50	FT		No Quote	No Bid	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote
F.5		RUB RAIL PER FOOT FOR ABOVE 6"	50	FT		No Quote	No Bid	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote
F.6		RUB RAIL PER FOOT FOR ABOVE 8"	20	FT		No Quote	No Bid	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote	No Quote
	TOTAL - GROUP F (F1-F6)						No Bid	عتند	No Quote		No Quote		No Quote		No Quote

No Offer R & W Distributors